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Now that he can be — X 2 12 wTpn IMPWa RAWT WTPR WONRT
w7pn with his m%w is there any question concerning himself

OVERVIEW

The niwn stated that a man can be w7pn by himself or through a m5w. The
Xn3x asks that if he can make a 9w to be w7pn then he can certainly be wipn
himself. Why is it necessary for the 71wn to mention 12?7 Our N1BOIN explains
why the classical answer of 11 A% 17 X2 does not apply here.

— 1% N 1T RY 9019 198 RPIT IND NN YN T99W PN
And it is not possible to answer that here the 71w» is not exact when it
states YM7Ww21 13, but rather the intention of the mwn is to teach us that not

only 13, but also ym%wa. The reason we cannot explain the 73w» in this manner is -
:N9 7299 *NWAa Sax Zmas snwa YN 997 1Y 19V NOT

because it is not possible to use this answer of T A% T X? except by two
phrases, but not by two words.

SUMMARY
T X 7 X2 may explain two M22 but not an extra word.

THINKING IT OVER

Perhaps® *21 heard the first X1n teach 12 w7pn WK and the second Xin said
IMPWa wIpn WK and 27 combined them, and therefore the explanation of
T A% 7 X9 can apply!*

! Literally: ‘not (only) this (but) also this’. When two cases are mentioned and the first can be derived from
the second (making it [seemingly] superfluous), many times the X7 explains that it was taught in a
manner of 17 AR 7 X?; not only is the ruling valid in the first case (which is more obvious), but the ruling
also applies to the second case (which is not as obvious). Seemingly the X1 could have explained our
71wn in this manner as well.

* When two separate cases are mentioned in the 73wn it is possible that one X1n mentioned the first case only
(which has some novelty) and a second Xin mentioned the second case (which has a greater novelty). 27
(who was 7701 the 71wn) may have heard the first case and noted it and then heard the second case and
added it to the first. Therefore we can say 11 Ax% 11 X7. However when it is just a matter of a word (12) it is
obvious that there were no two statements (by two 2°Xin), but rather only one statement (by one Xin) of
MW 12 wIpn WK, the question remains that 12 (which besides that it can be derived from Ym>w23, in
addition it has no novelty at all [see "19]) is superfluous (see *"nxy). See “Thinking it over’.

? See footnote # 2.

* See (also) n"ma.
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